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Results at the CERN-0T with cosmics
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Excluded:
Low efficiency

Highly noisy




Summary and test plans

- Very good Gainafact2 b
Pure R1234ze - high HV requireo reducing to 1 l/IYm
- costs (factor 7)
Gain a fact 4 by
R1234ze + CO2 (50/50) - 900d (similar to EEE) reducing to 11/h
HV compatible and using 50% CO?2
T Res4arCcOr T . Gain a fact -4-69 o
: (5 1020 50%) i : reducing to1l/h :
Lo l2YIITIoo..0 ) and using 50% CO2

' Ar + CO2 (3,5,10,20%)
' Ar + SFé (12%)

Ar ~ 120 euro/ (200
bar - 20 | bottle)

Maybe also:

. N2+ CO2 (3,5,10,20%) Ar(or N2)

. 2 : +
e I_\I_2 - §':_.6 _(1_2_/"2 e CO2/isobutane premix?



Updates on

Ar/CO2

mixtures
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Ar/ C02 o

80/20

Cluster Size (strips)
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Gas ricirculation
system test

» CERN-02 leak search were done
with a ppm sniffer
* Found leakages on
* HV connectors
* (Gas connectors
* Screws

A new chamber is
Not leaking

Huge F-salts found

RH?




- Leaksbefore  (3QS ricirculation

and after the

03 1o/ - 7 system test

« 76 ml/h — 73
« 312 ml/h =77

Mixer mf, Telescope




Mixer —mf — Telescope GOS r|C|rCUlOt|On
system test

83 Monitoring -

Flowmeters Pressure

2.5 mbar Function expression or predefined name

2.0 mbar

1.5 mbar

1.0 mbar

0 mbar

Pump speed



Gas ricirculation
system test (2)
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Gas ricirculation system

Humidity

Dew point -~ RH ~ 0.02%
Maybe Something not

75 o
working
-80
-85
-30
19:50 1%:52 19:54 19:56 19:58 20:00 20:02 20:04

= Dew point Avg: -70.00 Current: -70.00

Flowmeters
401/

3.51/h

301,

2.51/h

201/

Reused fraction~60%

AR LA A AR A Wby fﬁ\J\i«,-qm,.b»;,.w,'u,.ku.m_ N W e b e e A i Aottt g A M Ao
1.01/h

0.51/h
01h

19:50 19:52 19:54 19:56 19:58 20:00 2002 20:04

= Flow output Avg: 2.9751/h == Flow input Avg: 1.201 I/h

PT1 - Buffer before pump

& mbar

5 mbar

4 mbar

3 mbar

2mbar eyl e -I-__" o b

1 mbar

0 mbar
19:50 19:52 19:54 19:56 19:58 20:00 20:02 20:04
= PT1 Avg: 1.96 mbar Current: 1.65 mbar

PT3 - Buffer after pump

700 mbar

Always based on negative
pressure parameter
driving the pump

300 mbar

200 mbar
100 mbar

0 mbar
19:50 1952 19:54 19:56 19:58 20:00 20:02 20:04

== PT3 Avg: 267 mbar Current: 275 mbar




Gas ricirculation system (2)

- the reused fraction depends on the negative overpressure of the
pump branch

- filters not mounted at the moment
- pump full scale too high 200 l/h
- price 1-2 keuro (depending on RH filters and components)

- needs the students to tune it (frequently?)

- INflow/OUTflow fraction-driven maybe more stable?
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